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transform expressions?
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How do I use Jrr~igonome1'

transform expressions?
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How do I use 1'r|gonome1'r|c |den'|'|1'|es to

transform expressions?
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use Jrr~igonome1'r~ic identities

transform expressions?
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w do I use trigonometric identities to

transform expressions?
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5.1 Reclpr-oco.l ﬁo‘!’{:& and Mﬁ{é\
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cosx tanx to sinx

secx cotx sinx tol

sin’ x secx csex to tanx
tanx+cotx to cscx secx
cscx—sinx To cotx cosx

tan x(sinx +cot x cosx) to secx
(I+sinx)(l-sinx) to cos” x
(cosx—sinx)” to 1-2cosxsinx
2 2 2
(tanx+cotx) to sec” x+cse” x

cscx—1
—  to cotx cscx
COS X

N
sec”x—1
—— to tanx secx
sinx

secxy sinx
— to cotx

sinx cosx
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ities Name:

e expr‘essmn on the rlghf Use a se@:ﬁ‘e

A\ C\RS
2. cscxtanr to secx QN%%

4. cscxtanx cosx tol

6. cos’x cscx secx to cotx

8. sinx+cotx cosx to cscx

10. secx—cosx to sinxtanx

12. cosx(secx+ cosx csc’ *c) to csc’ x
14. (secx—1)(secx+1) to tan” x

16. (l—tanx]1 to sec’ x—2tan x

18. (c-osx—secx)‘ to tan® x—sin® x

1-cos’x .
20. ——— to sinx cosx
tan x
1+ cot‘
22. =" " to cot’x
sec’ x

CSCX COSX
24. - to tanx

cosx sinx

. (] CX
secx — X secx+ tamrs
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Google Classrooml
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Transform the expression on the left to the expression on the right.

secx—cosx fo sinxtanx
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Your entire 5.3 assignment

should be completed.
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